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EXERCISE - 2.1

A Shopkeeper sold his goods at a profit of

1
125%. Find the C.P. of article if S.P. is Rs.
1890.

TH THMIR AT TEGT i 12%% % T WS

2 i o 1 A o 1 B AR fee Hed ©.1890 77
(A) 1680 B) 1780
(C) 1580 (D) 1880
A shopkeeper sold his article at a profit of

2
165%‘ Find the C.P. if S.P. is Rs. 1470.

T HER AT aegatl i 16%% % T W =
2 1 o5 1 %A goF F T A 9 w1 fawa qod
. 1470 €7

(A) 1160 (B) 1360

(C) 1260 (D) 1460

A shopkeeper sold his article at a loss of 15%.
Find the C.P. if S.P. is Rs. 1360.

T THFER ST gl ol 15% B R e @ At fosra
qod 1360 T o 9 god 41 B2

(A) 1500 (B) 1600

(C) 1400 (D) 1800

S.P. of 9 articles is equal to the C.P. of 12
articles. Then find the profit or loss percent.

9 g 1 fosra I 12 Iqell % %A Tod & a0

2 @ oy ufqe =@ ' g &= enm?
(A) 33%% B) 33%
(C) 31% (D) 33%%

S.P. of 63 articles is equal to the C.P. of 72
articles. Find the profit or loss percent.

63 TGSt 1 foha e 72 TSN & %I Ued & AR

2 @ foren wfawm &1 e = =ity Bnft?
3 4

() 142 % B 14—%
2 1

(©) 142 % D) 14 %
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C.P. of 44 articles is equal to the S.P. of 55
articles. Find the profit or loss percent.

44 FEGST 1 A T 55 TR H ORI T H AR

2 @ forem ftem@ @9 =1 oIt B
(A) 20% B) 25%
(C) 10% (D) 15%

On selling 25 oranges a shopkeeper gains S.P
of 5 oranges. Find the profit or loss percent.
25 T "9 W foRel IHEER & 5 I</ & fowma g
o S o B ® A R G WS feRa witer @y
= B B

(A) 25% B) 20%

(C) 15% D) 5%

On selling 72 articles a shopkeeper gains S.P.
of 9 articles. Find the profit or loss percent.
72 TT 997 T T THIMER i 9 F&gstl & fasa 7o
& SR o 2 © Al 39 feRe wfter @ = il e

@) 142, (B) 3

1420
7 77
2 1

(©) 14=% D) 14— %

On selling 33m cloth a shopkeeper loses C.P
of 11m cloth. Find the loss percent on whole
transaction.

33 M. FwUS T W fHA FFHR &1 11 . FIE
%4 god & SR FI el § o w1 gfaea e gm?

2 1

() 333 % B 335%
2

(C) 31% (D) 333 %

A dishonest milkman sells milk at C.P but he

1
mixes water into the milk and gains 125%

What is the ratio of water to the milk in the
mixture?

Tk WEHM g9 AT ¥ S AN Hed WA= e
e @ forg sa ot vt @ @ik 12%% A HH

2 @ fagor & 9t ok g 1 A UM Bhm?
(A) 11:8 B) 7:5
(C) 9:7 D) 9:8
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11.

12.

13.

14.

A dishonest sweet seller professes to sell
sweets at C.P. but he uses a false weight of
900g instead of 1 kg. Find the profit or loss

percent during the whole transaction.

T A RS aren fHeral &t @rd Jed W a=1 &
T Al © TR Tk 3{fequl ae T SRS e © 1
foRa. 1 ST 900 . derar § W S feha e enw
o 71 Brm?

4 2
(A) 1160/0 B) 1150/0

5 5
(C) 1150/0 (D) 1150/0

A shopkeeper sells his goods at 10% profit but
he uses a false weight of 800 g instead of 1
kg, then find his profit percent on whole
transaction.

T JEHM THFER ST T&GaT i 10% 19 T =al
2 forq o 1 feram. =1 STTe 800 . dreran € dl 39 TR
yfqera e grm?

1 1
(A) 325% (B) 375%

1 1
33=0 35=9
(€) 335 % (D) 355%

A dishonest sweet seller sells his goods at
10% profit but he uses a false weight of 900 g
instead of 1 kg, then find his profit or loss

percent.

T S5AM fosEaren fasEal i 10 % & o W S=a
21 Tofeg U Ffequl oSt 1 WA e € 8k 1 R
1 STTE 900 . oS o1 TEH Hidl 21 @ 39 foham
gfaer @1y grm

2 2
23%¢ 24Z0
(A) 235% B) 245 %
2 2
©) 225% D) 215%

A dishonest shopkeeper sells his goods at C.P
but he uses a false weight and gains 25%, find

the false weight which he uses instead of 1 kg.
T dEAM FHMIR T 1 AN Jod T d97 &
e Tl 2 T Wk S{feqol oot T 9T T @ @i
25% TN HAE B A g 1 R H se frad e
FT THA I 27
(A) 600 gm /%

(C) 700 gm /%

(B) 800 gm/™m.
(D) 900 gm /™.
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16.

17.

18.

19.

C.P. but he uses a false weight and gains
20% , find the false weight which he uses

instead of 750g.

T A3 RSN 1O Sl ! arTd Jod T =
=1 A FIA ¢ TR T Afeywt o= w1 wE www ©
3P 20% T HAM & A 750 AH T S fohar T 1
TR w77

(A) 625 gm/7 (B) 525 gm/™.

(C) 650 gm /. (D) 725 gm/W.

A man buys pencil at the rate of 6 for Rs. 5 and
sells them at 5 for Rs. 6, then find the profit or

loss percent during the whole transaction.
T AR 5 ®. H 6 e TR € 3R 6 & H 5 S
T R AR WS e wfaer w1 enw = B e
(A) 33% (B) 45%

(C) 54% (D) 44%

A man buys some lemons at 2 for Rs. 1 and

same number of lemons at 1 for Rs. 2, he sells
them at 3 for Rs. 3. What is his gain/loss

percent in this transaction.

T At e Aig 1T § 2 3R S & A 2 % H
o wfiea & @R 3 & § 3 g d=ar @ A 39 e wfawa
4 A1 B B2

(A) 10% B) 25%

(C) 20% (D) 15%

Some toffees were bought at 11 for Rs. 10 and

same number of toffees at 9 for Rs. 10. If all
toffees were sold at Rs. 1, find the profit/loss

percent during the whole transacton.

B AHAT 10 & F 11 % 99 G S &1 ATwAT 10 &
T 9% A& | GE T | | AR 1 H 1 TR
T S T T R AR fRae wferd o i g
(A) 2% B) 1%

(C) 1.5% D) 2.5%

A wholesaler gives 30 pens to a retailer at
MRP of 27 pens. Find the profit precent of

retailer if he sells all the pen at MRP.
T i = fRE e S w30 U4 27 U #
afferd To W Al B e AR welt 4T e atfena
o W o 31 €S9 fohad waw enw gmm?

(A) 11%% (B) 11%%
() 11%% (D) 11%%
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23.

20. A wholesaler gives 40 pens to a retailer at

21.

22.

MRP of 36 pens, the retailer sells all the pens
after 1% discount, then find the profit percent

of retailer during the whole transaction.

T @i AR FeRE et SATH W 40 T, 36 T &
fehd god W A T1 HERT AR 1 e H gL A
% oI 5= o <1 € d Sargd $H TR e @ gim?
(A) 20% B) 15%

(C) 10% (D) 25%

A man purchases some article for Rs. 5400.
He sells 2/3™ of them at 15% profit. At what
profit percentage shoud he sell the remaining
articles to obtain an overall profit of 12% ?
T AR HD TR 5400 T. H @R B 9 2/3 TR
W1 15% & o9 W o=l @ ° o 99 aeqgel hi feha
i % A R 99 R 38 QAR W 12% T S #
(A) 5% B) 6%

(C) 7% (D) 8%

A man purchases some article at Rs.

18935000 and he sells 3/5% of them at 8%
profit. At what profit percent should he sell

the remaining to gain 13%?

T AR S TET 18935000 H WS € € 3/5 A
1 8%  TH T S=all €1 I o3t = a8 fore wier
F A WAE R R OR W SE 13% H A el?

(A) 20%% (B)ZI%%
(C) 20%% (D) 21%%
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Geeta purchases a plot of land for Rs. 96000.
She sells 2/5% of this plot at 6% loss. At what
profit percent should she sells the remaining

to get 10% profit overall?

Tl Tk e i 96000 %. H TR €1 98 SHH 2/5 A
1 6% 1 BT W Sl € U H 98 e % @9 W
99 fF 38 R 9IR W 10% T AN B

(A) 20%% B) 21%%

(C) 20%% (D) 21%%

A shopkeeper sells his goods at 12% loss. If he
had sold it for Rs. 18 more then he would have
gained 18%. Find the C.P. of article.

Toh THMER ST TEGaHT i 12% 1H T S=ell © A
W 18 %. Afush W =9 dl 18% N erdl €1 o H HA

T I B
(A) Rs. 400 (B) Rs. 100
(C) Rs. 200 (D) Rs. 300

A shopkeeper sells his goods at 7% loss. If he
had sold it for Rs. 64 more then he would have

gained 9%. Find the C.P. of Article.
T THFER ST aqaT 1 7% BT 2 T a=a £ afg
o€ IU 64 %. AT | 99 Al SH 9% T o1 el § dl

I 1 %A oI 1 B2
(A) Rs. 300 (B) Rs. 400
(C) Rs. 100 (D) Rs. 200
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Neha wants to sell a watch at a profit of 20%.
Had she bought it at 10% loss and sold it for
Rs. 30 less she would have gained 20%. The
original C.P. of watch is -

JET A ST 20% F AW W AT =Rl © A o
T 10% F9 § TR 3R 30 & FH F 99 @ 9 20%
w1 T B T A TS HT ATk Jod FT A
(A) Rs. 150 (B) Rs. 200

(C) Rs.250 (D) Rs. 300

A shopkeeper sells his goods at 20% profit.

Had he bought it at 10% loss and sold it for
Rs. 15 less, he would have gained 30%. Find

the original C.P. of article.

T RTRR ST TGSl 1 20% A9 R el ¢ AR
T T8 10% ®F H TR iR 15 & w9 ° o9 1 39
30% 1 @19 BT @ o %] 1 STifash o 1 2
(A) Rs. 500 (B) Rs. 700

(C) Rs. 600 (D) Rs. 800

A shopkeeper sells his goods at 10% profit.

Had he bought it at 20% loss and sold it for
Rs. 56 more, then he would have gain 30%.

Find the original C.P. of article.

T HMRR T a&qsti &l 10% & o T a=al
219 98 20% %8 H TR R Rs. 56 fes 99
T IY 30% HT A A AR FA TEA FI B2
(A) 300 (B) 200

(C) 400 (D) 100

A shopkeeper sells his goods at 10% loss. Had

he bought it at 20% loss and sold it for Rs. 44
more, then he would have gained 40%. Find

the original C.P. of article.

T THMIR 31T &gt 1 10% ht B W =@
21 9f% 98 20% HH H WX 3R Rs. 44 faw & 99
A 40% T T B T q HA G FA A2

(A) 95 B) 85

(C) 100 (D) 90

A shopkeeper allows two successive
discounts of 50% and 40% on MRP. Then

find its equivalent discount.

T HTIR ST TG TR 50% I 40% % I FHHAA
T2 <1 € Al SHRT WA S22l 1 BNl?

(A) 50% (B) 65%

(C) 60% (D) 70%
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A shopkeeper allows 3 successive discounts of
50%, 40% and 20%. Find his equivalent

discount.

Teh HTER ST TSN i 50%, 40% SR 20% T A
UM 9221 a1 € Al SEh1 THqed 92 1 B2
(A) 74% B) 76%

(C) 75% (D) 77%

The MRP of a piano was Rs. 15000 at the
time of sale. There were three successive

discount of 20%, 10% and 10% respectively.
Find the S.P. of piano.

T %] &1 3iford od fashl & §HF 15000 &. o1l 39
W 20%, 10% AR 10% % oI HAME 522 fod S &

@ fasha qea = sm?
(A) 9890 (B) 8720
(C) 9720 (D) 7720

A shopkeeper purchases a chair marked at
Rs. 600 and gets two successive discount of
15% and 20% respectively. He spends Rs. 28
on transportation and sells the chair for Rs.
545. His gain percent was-

T THTRR 600 %. 3ifehd goa aref HHl W 15% AR
20% e T AN S Tl € o8 qHeEed W 25%, @H
FIA 21 SR HH FY 545 F 49 21 € @ 39 TR %
@1 grm?

(A) 25% B) 15%

(C) 20% (D) 10%

Total C.P. of chair and table is Rs. 20,000. Chair
is sold at 10% profit and table at 10% loss and
shopkeeper gains Rs. 450 on whole transaction.
Then the C.P. of chair and table was-

T HEl SR WS 1 HIHG 20,000 T T HH BT 10%
A R S A HT 10% T T W A=1 S@ F 9
THMIR 1 R HIR T 450 T. HT A9 Bl & a

AR A HY HiHa w1 B2
(A) 22250 (B) 12350
(C) 12750 (D) 12250

The total C.P. of 2 watches is Rs. 840. One is
sold at a profit of 16% and other at a loss of 12%.
There is no profit or loss on whole transaction.
Then find the C.P. of each watch.

T wfgal 1 %9 9o 840 T. €1 UEEl Ut HI 16% ®
A R SR O TS I 12% HI B W == S B
AT Tfgal % U] W R 1w A1 el Tl et urea

FT1 A TF F1 E?
(A) 360, 480 (B) 320, 480
(C) 360, 460 (D) 340, 420
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12.

13.

14.

A businessman bought 5 horses and 10 cows
for Rs. 10,000, he sold each horse at 15% profit
and each cow at 10% loss. He gained Rs. 375
on whole transaction. Then find the price of

each horse.

T AR 5w 31 10 T 10,000 % § @l @ o
Tel® SIS Wi 15% oS T S Jeieh T i 10% BT
W S B R ERE W SH 375 %, %1 o9 Bl € ol Wl

TS T GeF F1 SN2
(A) 1200 (B) 1300
(C) 1100 (D) 1400

If 450 pens which have equal costs are
categorized in three types to sell them at a
profit of 9%, 10% and 12% respectively. If

3
overall profit on first two types is 97% and

the overall profit during the whole transaction
is 10%. Then find the number of pens in all

categories.
THM HHG a1l 450 T 1 Tt & ford i wgel o
(2T T RI 3 HEET W 9%, 10% AR 12% T A1 Bl

. . 3
? 9% el S gHEl W 97%37[611%4@@?1{%@%
T 10% T @ B Al i SHEl | U kT we w4 en?
(A) 60,90, 300 (B) 50, 100, 300
(C) 50,150,250 (D) 40, 150, 260
A person bought two watches for Rs. 480. He

sold one at a loss of 15% and other at a profit
of 19% and he found that each watch was sold

at a same price. Find the C.P. of two watches.
T AR a1 HREAT 480 T. W WISl © Ul Hel Fl o
15% 1 BT TR 3R SHA SIS 1 19% & o T sl
? 3R 9% T © I wfedl w1 fawd 9o wEE ?1

T wfeal @1 wa qod @ g
(A) 240,240 (B) 380, 100
(C) 140, 340 (D) 280, 200

A man sells two articles for the same price.
He sold the I** article at 15% loss and second
article at 19% profit. If he bears a loss of Rs.
480 on whole transaction then find the

difference between their C.P.

T Al I gl w1 SR faRT qod WS ©
B TE] I T8 15% BT W I TE TEK Hl 19% B
S W AT B R W W IH 480 T. K1 FI BNt ©
q Sl TR % %9 Hod ¥ fwaen @ grm?

(A) Rs. 9600 (B) Rs. 5600

(C) Rs. 4800 (D) Rs. 7600
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15.

16.

17.

18.
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A man sells 3 articles 1%t at a loss of 10%, 2"
at a profit of 20% and 3™ at a loss of 25%. If
the S.P. of all the 3 articles are same and he
bears a loss of Rs. 350 on whole transaction

then calculate C.P. of all 3 articles.

T AR 3 a&gell § 9 98t a&] &l 10% &I T
T T HT 20% o T T AAL T 25% FT BT W
el iR A aegent w1 fawa ged SR ® Ak
R HIR W 350 T HI BT € Al A oeqen w1 %A

T I B2
(A) Rs. 550 (B) Rs. 580
(C) Rs. 590 (D) Rs. 690

A shopkeeper calculates his profit on S.P.
and obtains a profit of 20%. Find his actual

profit percent.

Tk AR O oy o ged W Siear © 9k 39
20% TN B € A AT AR AT FAT MY
(A) 15% B) 25%

(C) 20% (D) 10%

'A' calculates his profit on S.P. whereas 'B'
calculates at C.P. If their S.P. are same, 'A’

gets 25% profit and 'B' gets 15% profit and
difference between their profit is Rs. 275,

then find their S.Ps.

A 71 @1 TR goa W Sigal @ Seis B %49 god
TWSAEAE AT 25% o9 Bl € B 15% SN 570
el W 275 % k1 R ¢ @ foka god @ e
(A) 2200 (B) 2400

(C) 2500 (D) 2300

'A' calculates profit on S.P. and 'B' calculates
on C.P.Ifthe S.P. of A and Bis Rs. 1800 each
and profit earned by 'A' is 20% and by Ritesh
'B' is 20%, then the difference in each
other's profit is?

A o A1 fasa gog W Sied € 3k B %9 g
R A% I % fohaT 9o 1800 T B1 A T 20% T @I
g 21 B ® oft Afg S foka qog geE 8k
20% T 19 BT € A JE % Wl w1 SR A gim?
(A) 40 (B) 70

(C) 60 (D) 90
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20.

21.

3600. He sold the 1% article at 30% loss and
2rd article at 25% profit. Calculate the amount
of profit or loss earned by him if the C.P. of 1%

article is equal to the S.P. of 27¢ article.

T IHMER I a&qd 3600 & W @A 21 gl
TEG HT TE 30% FHI BT W AR I o HI 25%
T W AT T IWH G AT A AT B F
B STafeh Tgelt o%g 1 %9 qod gHd a%g & fawa
qed & aUe 8?2

(A) 200 (B) 300

(C) 100 (D) 400

A shopkeeper purchased two articles for a
certain amount. He sells the first article at

1
a loss of 335% and 2nd article at a loss of

20%. If he bears a loss of Rs. 560 on whole
transaction, find the S.P. of both article. If
the C.P. of 1st article is equal to S.P. of 2nd
article.

Tw s < o fafvea o= af & e 21

et w aw Ssé%aﬁaﬁrméw%aﬁtwﬁ

I 20% HI B W 9= 7 A 7T FIR W 3IH 560
w1 B g @ d S T rer-ererm fawa g
F1 BN AR TECl A% w1 w oI T 9% &
o goa & R 772

(A) SP, =640, SP, = 800

(B) SP, =640, SP, = 800

(C) SP, =640, SP, = 800

(D) SP, =640, SP, = 800

By what percent the consumption of tea be
decreased so that the expenditure does not
increase if the price of tea is increased by 20%?
=™ HT HIAT R 20% HT gfg TH W @I | e
yfaera =1 FH *1 9@ @i Tl et w©

(A) 16%% (B) 16%%
(©) 15%% (D) 15%%

Profit, Loss and Discount | @1, &1 3fiX g2
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23.

24.

25.

housewife is able to buy Skg more for Rs.
100. Find the original C.P. of sugar.

=+t FT T B 20% HT FH M W TH TSN 100
T ® 5 femm. i+ aifus wisdt @ o <= #) qa
FHHd FT BI?

(A) 4 Rs/kg (B) 6 Rs/kg

(C) 7 Rs/kg (D) 5 Rs/kg

The price of tea is increased by 32% and so

a housewife's expenditure on tea increased
by 10%. If she bought 12kg earlier. What is

the quantity she bought now?

=@ HT HIAA H 32% w1 gig 7 W w5 ag0i a1
oM T A a9 TE 10% | °9g WAl 21 Afg 9%
Tea 12 foHul. 9@ @t oft @ ofa a8 e
TR ?

(A) 10kg B) 11kg

(C) 8kg (D) 9 kg

Dinesh purchased some lemons. He

purchased 3 lemons for Rs. 2. He sold all the
lemons and obtained 25% profit At what rate

did he sell all the lemons?

e 3 g 2 & & 9@ @ Tl § @R Tt g Wy
25% 1 o9 Bl © o S& e fohe o o =59

(A) Rs.6 B) Rs.4

(C) Rs. 7 (D) Rs.5

Rakesh purchased some lemons. He

purchased 7 lemons for Rs. 10. He sold all
the lemons and obtained 20% loss. At what

rate did he sell all the lemons?

THY 7 A 10 & & 99 @ Tl @ AR geft Fgar
I A W 20% T FI € 7 o s A foRw e
¥ 99?

(A) Rs. 8
(C) Rs. 9

(B) Rs.7
(D) Rs.6

Maths »y Bhagwati Prasad Sir



Nishank Pathak marks his goods 30% above
his cost price but allows a discount of 10% at
the time of sale. His gain is :

fieh UIes AT WM &1 Sifehd Jod 39 %A A
T 30% arferen offend a1 €, T S 99F 98 10%

T2 %1 ® Al IHHT N Hfeer gl
(A) 18% B) 17%
(C) 19% (D) 20%

A dozen pair of socks quoted at Rs. 80 are
available at a discount of 10%. How many
pairs of socks can be bought for Rs. 24?

SR T Tk ot SIS, e oifehd god 80 ® W
10% T B2 & WA TN 24 € F IR T R St
T ST TR 72

(A) 5 B) 3

€ 4 D) 6

A shopkeeper always gives discount equal to

25% and gains 25%. If the C.P. of the article
is Rs. 1440, then find the MRP.

T JHFIR AT TE3T T 25% Y T 3 & d1R 25%
1Y HAE § A o] 1 F9 T 1440 B Al oI
sifera e grm?

(A) 4800 (B) 2400

(C) 1100 (D) 1200

By selling an article for Rs.15,600 a man
allows 8% discount and earns 19.6% profit. If

he did not give any discount what would be his
profit percent?

T AR 8% 1 FE & o o1& I 19.6% HT AW HAI
2 4fE 98 g2 9 3 @ fohae wfae &1 @ FwEET Aty
%] 1 fosha go 15 600 % 2|

(A) 30% B) 40%

(C) 25% (D) 20%

A fan is listed at Rs. 1500 and a discount of
20% is offered on the list price. What
additional discount must be offered to the

customer now to bring the net price to Rs.
11047

T TE 1 3R god 1500 €I 7 AR sffeRd god W
20% 1 T2 § S T, A UEw H 1104 T F @A
% forw 5a SRR FA-d T2 & T 8

(A) 10% B) 9%

(C) 15% (D) 8%

Maths »y Bhagwati Prasad Sir
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EXERCISE - 2.3

6.

10.

— SAFALTA CLASS

An Initiative by 3THIISTIcTl

The marked price of a TV is Rs. 16000. After
two successive discounts it is sold for Rs.
11400. If the first discount is 5%, then the
rate of second discount is:

ferelt Srelt =1 Siferd g 16000 TG 1 J HiH T F
% TH 11400 ®9F =1 S B AR wESd T 5% T,

A T g ) fawat 77
(A) 25% (B) 20%
(C) 10% (D) 30%

The marked price of a watch is Rs. 1600. The
shopkeeper gives successive discount of 10%
and x% to the customer. If the customer pays
Rs. 1224 for the watch, the value of xis:

T € 1 TR god 1600 T {1 SHRT skl T
TSR F1 FHAFER 10% T x% FT L 2@ 7 3R
THTER T8 1224 04 | TR oAl 81 GEEER X F
qE 1 7?2

(A) 10% B) 20%

(C) 15% D) 12%

An article of cost price Rs. 8000 is marked at

Rs. 11200. After allowing a discount of x% a
profit of 12% is made. The value of xis:

T o] ST 9 Ted 8000 T , S tfeRd go
11200 T T T X% 1 B2 37 o a1 o IH 129% F
o g gl 7, A x A o R?

(A) 25% B) 20%

(C) 22% (D) 21%

A machine is marked at Rs. 6800 and
available at a discount of 10%. The
shopkeeper gives another off season discount
to the buyer and sells the machine for Rs.
5202. Find the off season discount.

Tk it ot sifeRd god 6800 T 7, 10% i T2
% WYl IUCT 21 THIR TSR *1 off season &
N T rfafied g2 3 @ oI weiie &l 5202 T
# 99 a1 @ @ off season ® ot 772

(A) 10% B) 15%

(C) 12% (D) 18%

Manu Chaudhary marked the selling price of
an article at 10% above the cost price. At the
time of selling he allows certain discount
and suffers a loss of 1%. He allowed the
discount of:

T e T W 3ifehd Hod TUE i 9od 9 10% 3T
TR e 21 S T I8 Tk T 9 3R 1% i
B SoTT 7, o SHHT g2 W F B2

(A) 11% B) 10%

(C) 9% (D) 10.5%

Profit, Loss and Discount | @1+, &1 3fiX g2



—f SAFALTA CLASS

An Initiative by 3R ISIICT

11.

12.

13.

14.

15.

A dealer buys an article marked at Rs. 25000

with 20% and 5% off. He spends Rs. 1000 for
its repair and sells it for Rs. 25000. What is his
gain or loss percent?

T AN fordt o 1 e sifea gea 25000 92
2 I I HUNTT WS FHHA: 20% TAT 5% H W TR
21 98 T I I H 1000 T T HI 7 3R 25000
®d | o9 AT 21 ST A% AT FMAA% T F?

(A) Loss of 25% (B) Loss of 10%

(C) Gain of 10% (D) Gain of 25%

The marked price of a table is Rs. 800. A retailer
bought it after two successive discounts of 10%
and 15%. He spent Rs. 13 on transportation and
sold it for Rs. 875. His profit was:

et 51 1 3ifeRd god 800 T 71 TH TRU AR
T8 < ik B 10% T 15% % TN TSI 1 e [
W 13 T TE H T AR W 875 T | o7 A0 71
SHHT oY Ffaerd T2

(A) 40% B) 37%

(C) 28% (D) 25%

The marked price of an electric iron is Rs.
690. The shopkeeper allows a discount of 10%

and gains 8%. If no discount is allowed, his
gain percent would be:

T o soi 1 3ifeRd god 690 ®Y9 71 Tk HMER
T W 10% T I F AR 8% HT T HAM § AE HIE
ot T2 T & A A IR T qfw F M E?

(A) 20% B) 24%

(C) 25% (D) 28%

In order to maintain the price line a trader
allows a discount of 10% on the marked price
of an article. However, he still marks a profit
of 17% on the cost price. Had he sold the
article at the marked price, he would have
earned a profit percent of:

3fad Tod ST W & fore Uk foskar foRe asg & sifRa
e T 10% HT B2 1 21 THH 6N F, T8 F4 oI
T 17% T T I HIA 2| G SO T8 iR qoa
TR = B @ 39 feha wfaw @ gr?

(A) 30% B) 32%

(C) 33% (D) 35%

A shopkeeper allows 25% discount on marked

price and earns 30% profit. If he gets Rs. 90 as
profit, find the amount of the discount.

T THMER 3ifhd e W 25% T2 a1 ¥ 2R 30% e
T § | SR SHHT A1 90 TIF & Tl 51221 1 il |
(A) 125 (B) 135

(C) 140 (D) 130

Profit, Loss and Discount | @1, &1 3fiX g2
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16.

17.

18.

19.

20.

By how much percent a shopkeeper mark his
goods above its cost price so as by giving 20%
discount he may gain 10%?

T SHIGR 1 ST TEq3T1 1 hiAd d Jod 9 forad
gfaera sameT SifRd AT AMMET ATMH 20% T TR o
98 10% Y FHHT 7

1

A) 37%% (B) 35.%

(©) 37%% (D) 35%%

By how much percent a shopkeeper mark his
goods above its cost price so as by giving 10%
discount he may gain 30%?

T SHIGR 1 STOHT TR 1 hiAd e Jod § forad
gfaeTa ST Stfehd wEAT =1feq foh 10% 9221 T +ff a8
30% 1Y HHTT 7

2

(A) 45%% B 46_%

(C) 44%% (D) 43%%

A shopkeeper mark his goods at such a price
that after allowing a discount of 12.5% on the
marked price he can earn a profit of 20% of
the article that cost him Rs. 1400 then find its
marked price.

T THMER STI TG 1 2 36 TR 3ifehd i & foh
12.5% T S T8 20% T FHHART § | 3R ST 5 I

1400 T ¥ A siferd Joa q1a A |
(A) 1950 (B) 1925
(C) 1920 (D) 1935

By selling an article for Rs. 15600, a man
allows 8% discount and earns 19.6% profit. If
the article is sold at 0% discount what should
be the profit %?

T 5 15600 T H I=eh T STIHT 8% 22l 7l § 31k
19.6% T HHT § | SR ST 0% BN N T % 1 L |
(A) 30% B) 32%

(C) 28% (D) 40%

By selling an article for Rs. 1170, a man
allows 10% discount and earns 30% profit. If
the article is sold at 5% discount what should
be the profit %?

1170 93 H fRElt =St 1 St T STEH 10% T2 <al

T 3R 309 T THAMA S | 3T ST 5% B A ATH % T 7 |

(A) 35%% (B) 37%%
(©) 33%% (D) 31%%

Maths »y Bhagwati Prasad Sir



22.

23.

successive discounts of 8% and 8% are given
on it. How much would the seller gain or loss,
if he gives a single discount of 16% instead of
two discount?

T a5 W 900 T3 3iferd foman 70 ¥ 1 30 W wfaew
T2 8% 31X 8% Y TTE ¥ | IS 3/ S itk T2 F1 TR TH
TN 16% ST 2 QY STl S/ ATt i Tohal % 1 A4
RIKIEAL

(A) Gain of Rs 4.76 (B) Lossof Rs 5.76
(C) Gain of Rs 5.76 (D) Loss of Rs 4.76
In a shop articles are usually sold at 40%
above the cost price. During a sale, the
shopkeeper offers a discount of 10% on the
usual selling price. If he manages to sell 72
shirts for Rs. 13608, then his cost price per
shirt is:

T M | wervad: ot axg & su& w9
40% 1ok siferd T o= 1 § | T WA B A
THTER foha Jod T 10% HT T2 < § | AfE 9% 72
HHTS T 13608 TIA | <=l §, A IcdS® HHIS

FA YT FT R ?
(A) 210 B) 150
(C) 149 (D) 125

If a person purchases a shirt, he gets 6%
discount. However, if he purchases two shirts,
he gets 5% on the first and 8% on the second.
If the price paid by the person for two shirts is
Rs. 925, then what will be the marked price of
each shirt?

Maths »y Bhagwati Prasad Sir
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Afg Teh AfHRT Teh ot BRISA & 0 3 6% T T Brelt

24.

25.

B | el AfE o8 1 HHs TRIR 0 Y Teelt HHS W 5%
3R TEdt S W 8% e et | afs =afer gr <y hwtsi
% foTT 925 T T T o T2 & ot Tk HHist

StfeRd Ho 371 B 2
(A) 494 (B) 550
(C) 528 (D) 500

A person buys a bag at 25% discount on its
original price. After few days, he sells it to his
friend at 40% increase on the original price.
What is his profit percentage (approx)?

T SAfK 7 T o7 1 SHh AT Yo T 25% T2 &
e VR | B Al & 918 36 98 o7 36 At
T | 40% ATk T o9 T &1 9= o | 351 ey
T T gfeTa o § 2

(A) 75% (B) 80%

(C) 87% (D) 85%

If in sale, the discount given on a saree is
equal to one-fourth the marked price and the

loss due to this discount is 15%, then the ratio
of the cost price to the selling price is:

Ifg freht fast & wret W @ 7 g2, ¢ifkd goa &
TH-TNATE & R B, A ATd oo 1 foaeha 7ed § 1

3TUTd © afE 98 15% 1 @I & 2
(A) 3:4 (B) 4:3
(C) 10:17 (D) 20:17

Profit, Loss and Discount | @1+, &1 3fiX g2



